Dividing a 3-Digit Dividend by 1-Digit Divisor — 1

Find the quotient.

445 + 5 = 492 + 6 = 432+ 9=
432+ 8= 623+ 7= 258 + 6 =
260 +4 = 684+ 9= 267 + 3=
392+ 7= 925+ 5= 392+ 8=
336+4= 270+ 6= 176+ 2=
228+ 6 = 315+ 7= 232+ 8=
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Dividing a 3-Digit Dividend by 1-Digit Divisor - 2

Find the quotient.

686+ 7 = 171+ 3 = 496+ 8 =
182+ 2= 378+ 6= 725+ 5=
432+ 9= 315+ 3= 408 + 2 =
636+ 6= 522+ 9= 876+ 4 =
308+4= 872+ 8= 279+ 3=
774+ 9= 672+ 4= 425+ 5=
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Dividing a 3-Digit Dividend by 1-Digit Divisor — 3

Find the quotient.

430 +5= 184 +8 = 296 +4 =
378+ 9= 574 +7= 234+ 6=
922 +9= 228 +4 = 3716 +8 =
294 -3 = 365 +5= 714 -7 =
432 +9= 824 +8 = 420+ 6=
742+ 7= 944 + 4 = 392+7=
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Dividing a 3-Digit Dividend by 1-Digit Divisor — 4

Find the quotient.

240 +5= 280+ 7= 423 +9=
918 -6 = 624 -4 = 618 -2 =
912 +3 = 954 +2 = 920 + 5=
486 +9 = 504 + 8= 522+6=
476 + 7 = 935+5= 392+8=
405+ 9 = 742+ 7= 468+ 6 =
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ANSWER

Dividing a 3-Digit Dividend by 1-Digit Divisor — 1
Find the quotient.

445 +5 =89 492 +6 =82 432 +9=48
432 +8 =54 623 +7 =289 258 + 6 =43
260 +4 = 65 684 +9=76 267 +3 =89
392 +7 =156 925+5=185 392 +8=49
336 +4 =84 270 +6 =45 176 +2 =88
228 +6 =38 315+7=45 232 +8=29
Dividing a 3-Digit Dividend by 1-Digit Divisor - 2

Find the quotient.

686 + 7 =98 171 +3 =57 496 + 8 =62
182+2=091 378+ 6 =63 725 +5=145
432 +9=48 315+3 =105 408 +2 =204
636 + 6 = 106 522 +9 =158 876 +4 =219
308 +4=77 872 +8 =109 279 +3 =093
774 +9 =286 672 +4 =168 425+5=185

Find the quotient.

Dividing a 3-Digit Dividend by 1-Digit Divisor — 3

430 +5=86 184 +8 =23 206 +4 =74
378 +9=42 574 +7=82 234 +6=39
522 +9 =058 228 +4 =57 376 + 8 =47
294 +~3 =098 365+5=73 714 +~7 =102
432 +9=48 824 +8 =103 420+6=170
742 ~7 =106 944 + 4 =236 392 +7=056

Find the quotient.

Dividing a 3-Digit Dividend by 1-Digit Divisor — 4

240 +5=48 280 +7=40 423 +9=47
918 + 6 =153 624 +~ 4 =156 618 +2 =309
912 + 3=304 954 +2 =477 920 + 5=184
486 ~+9 =54 504 +~8 =63 522 +6=287
476 +7 =68 935+5=187 392 +8=49
405+ 9 =145 742 +7 =106 468+6=78



